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Câu 1: ( 2điểm) 
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· P = U.I.cos( = 1732 W
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· Q = U.I.sin( = 1000 VAR
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· S = U.I = 2000  (VA)
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· R = P/I2 = 17.32 (
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Câu 2: (2 điểm) 
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· Id2 = 
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· Id = Id1 + Id2 = 4,44 A(Vì goùc leäch pha baèng nhau)
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· P = P1 + P2 = 3.
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Câu 3:  (2 điểm) 
· Sñm = U1ñm . I1ñm = U2ñm . I2ñm
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· I1ñm = 
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· ( = kt = 
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Câu 4:  (2 điểm)
· s = f2/f = 0,05
0.25
· n = n1(1 – s) = 60f/p (1 – s) = 1710vg/ph
0.25
· P1 = Pñt + ΔPñ1 + ΔPst = 124,7 Kw
0.25
· Hieäu suaát ñoäng cô

· η = 
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· Pcô =  Pñt – ΔPñ2 = 114 Kw
0.25
· Vôùi ΔPñ2 = s. Pñt = 6 Kw
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· η = 
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Câu 5:  (2 điểm)
· P = Udm*Idm = 50kW.
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· Iktss = 
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· Iư = Idm - Iktss = 198A.
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· Eư = Udm –Iư (Rktkt + Rư) = 230,2V.
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Số hiệu: BM1/QT-PĐBCL-RĐTV
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